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l.

PART A

Choose the Correct Option for the Question Given Below:

his principles, he has to be very careful

A. with regard of

B. with regard on

C. with regard to

D. None of these

Answer: Option C

Building has been built

A. accordance to

B. in accordance with

C. for

D. about

Answer: Option B

the new plan.

(50x1 =50)

a He was seen

A. went

B. going

C. gone

D. go

Answer: Option B

4. I never seen such a picture before.

A. did

B. was

C. have

D. has

Answer: Option C

Choose the word spelt correctly.

A. Ambulance

B. Ambulence

to the school.

5.



Ambulancs

Ambalence

Answer: Option A

6. Choose the word spelt correctly.

A. Criticice

B. Criticael

C. Criticise

D Criticese

Answer: Option C

Choose the correctly spelt word.

A. Evantual

B. Evental

C. Eventual

D. Eventaul

Answer: Option C

Choose the correctly spelt word.

A. Harasment

B. Harrasmant

C. Harassment

D. Harresment

Answer: Option C

Choose the correctly spelt word.

A. lnvolment

B. lnvolvemant

C. lnvolmant

D. lnvolvement

Answer: Option D

7

I

B



10. Choose the correct sentence.

A. Although it was raining, but we had the picnic.

B. Although it was raining, we had the picnc.

C. Although it was raining, since we had the picnic.

D. Although it was raining, though we had the picnic.

Answer: Option B

1 1. Choose the correcfly spelt word.

A. Catalog

B. Catelog

C. Cataleg

D. Cateleg

Answer. Option A

12. Choose the correctiy spelt word.

A. Deperture

B. Departere

C. Depertare

D. Departure

Answer: Option D

13. He was leaning _- the post.

A. with

B. against

C. about

D. to
Answer: Option B

14. I assure you _ your safety

A. off

B. of

C. from

D. with

Answer: Option B



15. He competed

A. off

B. with

C. to
D. off

Answer: Option B

16. He is _ difficulties.

A. in

B. on

C. from

D. with

Answer: Option B

me for the prize.

17 We

B

C.

D.

there three days ago

,18

Went

Will go

gone

go

Answer: Option A

They _ very happy seeing You here

A. Shall

B. Will

c. will be

D. Were be

Answer: Cption C

Choose the correct sentence.

A. The police is coming

B. The police coming

C. The police are coming

D. The police is come

Answer. Option C

19



20. We _ at the party iate.

A. arrived

B. went

C. played

D. saw

Answer: Option B

21. Choose the word spelt correctly

A. Satestfy

B. Satesfy

C. Satisfy

D. Satasfy

Answer: Option C

22. Choose the word spelt correctlv.

A. Dubbing

B. Dubing

C. Dubbeing

D. Dubinng

Answer: Option A

23. Choose the correctly spelt word.

A. Response

B. Respanse

C. Respoonse

D. Rasponse

Answer: Option A

24. Choose the correctly splet word ?

A. Scissors

B. Scisors

C. Scissars

D. Secissors

Answer: Option A



25 Choose the correctly spelt word '

A. Cr-ocadile

B. Crocadele

C. Crocodile

D. Crocadeli

Answer: Option C

Choose the word spelt correctly.

A. Horizontal

B. Horezontal

C. Horizontel

D. Horezontel

Answer: Option A

Choose the correctly spelt word.

A. Violance

B. Violense

C. Violanse

D. Violence

Answer: Cption D

28. Choose the correctly spelt word

A. Charecter

B. Charactar

C. Chartter

D. Character

?

26

27

29.

Answer: Option D

The sun is rising in the east. Choose

A. The sun is rising in the east.

B. The sun rises in the east.

C. AandB

D. None of the above

Answer. Option B

the correct form of given sentence



32

30. Yashwant got 

- 
as an officer in State bank of lndia

A. appoint

B. appointed

C. appoints

D. appointee
Answer; Option B

31. On entering the house, he found alljewels _
A. steal

B. steals

C. stealing

D. stolen

Answer: Option D

Are you attending ----- reception today

A.a
B. an

C. the

D. no article

Answer: Option C

Shweta wants to become ----- engineer

A.a
B. an

C. the

D. no article

Answer: Option B

34. I am angry with him ------ his carelessness

A. on

B. to
C. for

D. at

33

Answer: Option C



35 Take this medicine and you will get rid ------: the bad cold'

A. of

B. over

C. at

D. from

Answer. OPtion A

Arun is married BobbY.

A. bv

B. between

C. with

D. to
Answer: OPtion D

. Mr. Nazeer has no controi his student"

A. on

B. over

C. with

D. at

Answer: OPtion B

38. Good sleep is necessary good health'

A. of

B. for

C. at

D. from

Answer: OPtion B

39. I do not agree You on this Point'

A. to

B. in

C. with

D. at

Answer: OPtion G

36

37
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40. Choose the correct spelt word out of the given alternatives..
A. pasanger

B. passenger

C. Pessenger

D. Pasanger

Answer: Option B

. Choose the correct spelt word out of the given alternatives.
A. Damage

B. Dammege

C. Damaige

D. Dammage

Answer: Option A

Choose the correct spelt word out of the given alternatives.
A. Busisness

B. Business

C. Buisiness

D. Bussiness

Answer: Option B

Choose the correct spelt word out of the given alternatives.
A. Exampel

B. Example

C. Exampal

D. Exemple

Answer: Option B

Choose the correci spelt word
A. Cor.rupt

B. Currupt

C. Coruppt

D. Curropt

Answer: Option A

out of the Eiven alternatives.

42

43.

44



46.

45. Everyone in this universe is accountable to God his aciions

A. about

B. against

C. for

D. of

Answer: Option C

Let this be an example the troublemakers.

A. to

B. about

C. against

D. for

Answer: Option A

A good judge never jumps the conclusion

A. to

B. at

C. about

D. for

Answer: Option B

The work was completed 
- 

sunset.

A. for

B. in

C. at

D. about

Answer: Option C

My father will retire from service 
- 

a year.

A. on

B. in

C. with

D. bv

Answer: Option B

47
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50. This is --*- car I bought yesterday.

A. no article

B.a
C. an

D. the

Answer: Option D

PART B

ll' choose the correct option for the euestion Given Berow: (20x1=10)

51. When is the lnternational yoga Day celebrated?

E. June 21

F. March 21

G. Aprit 22

H. May 31

Answer: Option A

52. First railway ran between which stations in lndia?
E. Mumbai- Dethi

F. Delhi- Thane

G. Mumbai- pune

H. Mumbai- Thane

Answer: Option D

53. The Major regionalfestivals in Karnataka are

A. Dussera

B. Yogadi

C. Hampifestival

D. Ati of these

Answer: Option D



54 What day is being celebrated on this day (22 March) all over the world?

A. World fire day

B. World earth day

C. World Water Day

D. World Bravery Day

Answer. Option C

55. Which day is celebrated as Karnataka Rajyotsava?

A. 1St October

B. 2nd October

C. 1st November

D. 3rd October

Answer: Option C

56. Karnataka Government

and lactating women in

A. Mathru Poorna

B. Midday meal

C. Udisha

D. None of these

Answer: Option

has launched _ scheme to meet nutritional needs of

rural areas of state?

pregnant

A

57. Which of the following Wildlife Sanctuaries is not in Karnataka?

A. Cauvery wildlife sanctuary

B. Dandeli Wildlife Sanctuary

C. Bhandra Wildlife Sanctuary

D. Mudumalai Wildlife Sanctuary

Answer: Cption D

58. The Jog falls is located on which river?

A. Sharavathi

B. Cauvery

C Krishna

D. Godawari

Answer: Option A



59. Which temple is located in Karnataka?

A. Sri Virupaksha Temple

B. LingarajTemple

C. RajaRaniTempte

D. Meenakshi Amman Temple

Answer: Option A
60. Which sea is to the west of Karnataka?

A. Caribbean

B. Baltic

C. Arabian

D. Red

Answer: Option C

61. Recenily names of cities in Karnataka changed New name of Bergaum city is?
A. Belagavi

B. Belagav

C. Belurgam

D. Beilaam

Answer: Option A

62. Full form of GeM

A. Government Easy Marketplace

B. Government Electronic Machine

C. Government Electronic Marketpiace

D. Government Electronic Maintenance

Answer: Option C

63. Who is known as ,,Father 
of Karnataka music,,

A. Kanaka Dasa

B. Raghavanka

C. Purandara Dasa

D. none of thesee

Answer: Option C



64. Which is the called as Dakshina Ganga (The Ganga river of the south)?

A Hemavati

B. Cauvery

C. Krishna

D. GhataPrabha

Answer: OPtion B

65. what is the official language of Karnatak state

A. Hindi

B. English

C. Kannada

D. Malayalam

Answer: OPtion G

66. What is the capital of Karnataka

A. Mysuru

B. Bengaluru

C. Hubli

D. Dharwad

Answer: OPtion B

67. ln which district the Hampi Monuments are located?

A. Hassan

B. BellarY

C. Mysuru

D. UduPi

Answer: OPtion B

63. Where is RDSO situated?

A

B.

C

D.

Mumbai

Bengaluru

Chennai

Lucknow

Answer. Option D



69. Paternity Leave is Granted

A. 10

B. 15

c. 20

D25
Answer: Option B

for horv many dayrs!

70 l-low many days of LAP in a calendar year, a oermanenu Temporary Rairway servant sha,be entiiled to get?

A. 15 days

B. 20 days

C. 25 days

D. 30 days

Answer; Option D

lll' sorve the Forowing Question and choose the Approprlate answer
71. Length of Boundary of a plane Figure is called as

A. Perimeter

B. Area

C. Volume

D. None ofthe above

Answer: Option A

72' Find the cost of Fencing a square Field of side 50 m at a rate of Rs 60/- per meter
A. Rs. 10000

B. Rs.12000

C. Rs. .t4000

D. Rs.16000

Answer. Option B

Length of the sides of the square fencing field is 50m

Total length of fencing = Perimeter of the square field = 50 x 4 = 200m

(30x1=30)



--.----_

Total Cost of fencing = 2OO x 60 = Rs' 12000

73. Formula for Area of a Circle is Radius of Clrcle, d: Diameter of Circle)

A. Zrrr
B. fir'
C. nd
D. None of these'

Answer: OPtion B

74. Find the perimeter of a regular hexagon with each side measuring B m?

A. 48

B. 24

aaU. JI'

D. 36

Answer: OPtion A

Sol:
Perimeter of a regular hexagon = 6 x side = 6 x B m = 48 m'

75. lf 15 men can reap the crops of a field in 28 days, in how many days will 5 men reap it?

A. 50 daYs

B. 60 daYs

C. 84 daYs

D. 9.333 ciaYs

Answer: OPtion C

Sol:
Let 5 men can !'eap a field in x daYs

So, put the same quantities on the same side'

ffi;' ?'?rtrnd Davs are inverselv proportio":]l?::*,other lf we increase the number

of men fewer days will be required to cornplete the work'

=15= 
t ,5=1

InverselY ProPortional means 3e x

-d
Qa __=-



i.e., 5: 15 = 28: x
Or,x=(28.15)1 5
Or,x=84days
Hence, 5 men can reap a field in 84 days

76. A train moving at speed of T2kmlhr crosses a pole in B seconds. Find the length of the train.

A. 150 m

B. 165 m

C. 175 m

D. 160 m

Answer: Option D
Solution:

Length of the train is equalto the distance covered by train to cross the pole. So, we will
find the distance travelled by the train in B seconds by applying the following formula:

Distance= Speed x Time

Speed is given in Kmlhr so we will convert it into mis as answers are given in meters.

Speed=72* 's = 20 m/s

Tinre = B seconds

Distance = 20 * B= 160 meters

77 . Find the perimeter of an equilateral triangle of side g cm is

A. 26 cm

B. 27 cm

C. 28 cm

D. 29 cm

Answer. Option B
Perimeter of equilateral Triangle = 3 x Side

= 3x9 =27 cm

78. Which of the following represents 4m in km form:



I

A. 0.4

B. 0.04

c 0.004

D. 0.0004

Answer: OPtion C

Solution.4/1000 = 0'004 km

79. Write in decimalform 400 + 60 + 7 * *. *. #

A 467.257

8.467.527

c.467.752
D. 467.572

Answer: OPtion A

Find the value of 273.58 - 57 '25 =

A. 217.53

B 216.53

c.216.33
D. 217.33

Answer:OPtion C

Cost of 3kg and 5009 of Rice at a rate of 50 Rs per Kg

A" Rs. 165

B. Rs.170

C. Rs. 175

D. Rs. 180

Answer: OPtion C

Solution:
Cost = 3.5 x 50 = Rs 175

B1

82. Simplify . 42.4 - 23-57 + 53'64 - 17 '8

t-



A. 54.57

B. 54.67

c. 54.77

D. 54.87

Answer: Option B

83' rf 30 .ranges cost Rs. 120. Then what is the cost for 50 .ranges?
A. Rs. 180

B. Rs.190

C. Rs.200

D. Rs. 210

Answer: Option D
Solution:

Cost of 1 Orange = 120/30 = Rs 4

Cost of b0 Oranges = 50 x 4 = Rs. 200

84. Find the equivalent Ratio of 75 : 100

A. 3t4

B. 3t5

c 4t5

D. 2t5

Answer: Option A

85. Perimeter of a Rectangle is =

A. Length + Breadth

B.2x(Length+Breadth)

C. 4 x Length

D. 4x Breadth

Answer: Option B

86. Area of a Square



A. Side x Side

B. 2 x Perimeter

C. 2xVolume
D. Side + Side

Answer: OPtion A

87. Area of Rectangle =

A. Length + Breadth

B. 2x(Length+Breadth)

C. Length X Breadth

D. Length / Breadth

Answer: OPtion C

BB. 3 more than X can be written as

A. X+3
B. X/3
C. 3X

D. X-3

Answer: OPtion A

89'lf I=lthenY=r
A. 1

8.3
C5
D.7

Answer: OPtion C

90. Find the value of X for the given statement: 12X - 30 = 6

A.9
8.7
u.c
D.3

Answer: OPtion D



Sol:
{ = (S+30)/ 12 = 3

91. Solve 6X + 19 = 26 _ 2X

A. 1

8.2
c.3
D.4

Answer: Option B
Solution:
8X=16 lX=Z

92 
fl:;eced#lt 

is 30 cm long what wilr be the rength of each side if the srring is used to

A. 4cm

B. 5cm

C. 6cm

D.7cm

Answer: Option C
perimeter of pentagon 

= 30 cm
Length of Each side x 5 = 30 cm
Length of each side = 30/S = 6 cm

93 Find the area of a rectangle whose sides are 5 cm and 10 cm.
A. 50 cm2

B. 100 cm2

C. 1S0 cm2

D. 200 cm2

Answer: Option A

Solution. 5 x 10 = S0 cm2



94. ln a year, Seema Earns Rs. 1,50,000 and saves Rs. 50,000. Find the ratio of money that

Seema Earns to the money she saves?

A. 2.3
8.3:1
C. 4:3
D. 5.2

Answer: OPtion B

20 pens are divided between Sheela and Sangeeta in the ratio of 3: 2. Then how many pens

will Sheela have?

AB
B. 10

c. 12

D. 13

Answer:OPtion C

96. Cost of 7 m of cloth is Rs. 1470 , find the cost of 5m cloth

A. Rs.750

B. Rs.850

C Rs.950

D. Rs.1050

Answer: OPtion D

Solution:
Cost ofTm = Rs 1470

Cost of 1m = 147017 = Rs 210

Cost of 5m= 210 x 5 = Rs 1050

97. Cost of 5 kg wheat is Rs. 91.50" What quantity of wheat can be purchased in Rs. 183?

A. 9kg

B 10 kg

C 11kg

D 12 kg



Answer: Option B

98' Rekha pays Rs. '15000 as rent for 3 months. How much does she has to pay for whole year,
if the rent per month remains same?

A. Rs.45000

B. Rs.50000

C. Rs.55000

D. Rs.60000

Answer: Option D

99 Rahul made 42 runs in 6 overs and Mukesh made 03 runs in 7 overs. who made more runs
per over?

A. Rahut

B. Mukesh

C. Both

D. None

Answer: Option B

100. Express 2 mm in Meters:

A. 0.2 m

B. 0.02 m

C. 0.002 m

D" 0.0002 m

Answer. Option C



101 . frrdErm :srderTa sI 3{TEa -:=q$ t Emfi silcr-('Rfrrr.r6 g z
At present how many ie'c-ages are enlisted in the Eighth schedule of the constitution ?A. 21

B. 22
( ,L

D2L
,-.fiSlveri Option B

142.

A.
B.

C.
D.

{I;I8{IEII G=qH +-S qrR-a 63Tr ? / when was the official Language Rules passed ?
1 960
1 966
1976
1 990

Answer: Option C

103' tda ci6 fr trfr lgs-El sElrrrr 4T rr6fl 6E 63rr ztT ? t tnwhich year, Hindi (partiament)
Section was established in Railway Board ? '
A. 1950
8.1955
c. 1957
D 1960

Answer: Option D

104.'m, &l-+ + 3ia?fd 3Trfr dr-S rGq +ta_+ta g t ? t
What are allthe states that come under Region ,A, 

?
A. Jharkhand
B. Madhya pradesh
C. Chhattisgarh
D. All of the Above

Answer: Option D

'105' ihq w+.rc * m-ffi| * fr(t B-di cr-dq-m-rT freritld S z l How many Hindi courses are
prescribed for Central Govt. employees ?
A. 1

8.2
c.3
D.4

Answer: Option C

106' #frq tr& €-Rfr t $t-qffi +tT B ? / who is the chairman of centrat Hindi committee ?A. Prime Minister
B. Home Minister
C. Defence Minister



D. Finance Minister

Answer: OPtion A

107 iFa w-+x * frkfi a?fq 6ffii * Ru fttrtfta 3iF?T Ffr cro-{fi-iT Ffl t ? / which is

the frnal Hindi course prescribed for clerical cadre employees of Central Govt. ?

A. Pragya
B. Prabodh
C. Praveen
D. All of the above

Answer: Option A

108. +TE 'q' * +drqrHt ul G;e crd,-rrfi-fl t cRrffd 6tilr gqffu t ? i rrom which course a

Category 'D' employee is required to be trained ?

A. Pragya
B. Prabodh
C. Praveen
D. All of the above

Answer: Option B

109. criT crfl wfr qr ffi drdr qq{ea TFT{ +il il / what is the lumpsum alard for

passing Pragya ?

A. Rs.1B00/-
B. Rs.20001
C. Rs.22001
D. Rs.24001

Answer: Option D

1 10 +tfr,r, 6 q;ffii fi) fr-€ crdffi-fl t qPrfFfr ildT sqffid t ? / From which course a

Category 'C' employee is required to be trained ?

A. Pragya
B. Prabodh
C. Praveen
D. Ail of the above

Answer: OPtion C


